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A knot diagranﬂ cs c2 c1 C7 C4 Cs €10
Ideals for irreducible component#ﬂ)f Xpar

= (—u® —u+ 4 b—2u, v+ 0"+ Fa+2, w200+ 1)
Iy =(b+1, atu, v —u?+1)

* 2 irreducible components of dim¢ = 0, with total 24 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
I = (—u®* —u® 4. +b—2u, u4+u'"+---+a+2, v +2u?+. .. fu—1)

(i) Arc colorings
0
ag = u
ag = (
1
ag = _u2
U
az = \—ud+u
—u3
a’l = u5 _ u3 + U
(u18u17+.”u2>

as =

a7 =

—u? — !+ 3
w20 9 B2y

aq =

2u20+3u19+-~-+2u—4)

(ii) Obstruction class = —1

(iii) Cusp Shapes
= —7u20 — 106! + 19u!8 + 42617 — 31016 — 99415 + 18uM + 172u!3 + 4442 — 198u!t —
125u10 + 168u° + 183u® — 76u” — 166u’ — 8u® 4+ 93u? + 26u> — 41u2 — 28u + 1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 ' —8u -+ 1Tu—1
Ca,C8 Wl =2+ tu+1
C4, C7 u? — 4w o —2u 1
5 u?t +6u o —2u 1
Cg, Co W =+ 4u+8
C10 U21+2U20+"'+3U+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c3 v 12020 4+ 137y — 1
C2,C8 v =8y 1Ty -1
cy, C7 -6y -2y —1
5 vt +22y% + -+ 66y — 1
C6, Co y?t +21y* + - — 176y — 64
c10 vt =24y o 1Ty — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —0.567882 4 0.8515791
a = —0.521076 — 0.3213931
b = —1.047460 4 0.8025681

2.42497 + 4.944351

—1.24866 — 2.705591

u = —0.567882 — 0.8515791
—0.521076 + 0.3213931
b= —1.047460 — 0.8025681

2.42497 — 4.944351

—1.24866 + 2.705591

u = —0.848992 4 0.5982391
a= 1.09099 —1.325711
b= 1.272850 + 0.0728251

—3.02655 — 2.366051

—0.59037 4- 2.672741

u = —0.848992 — 0.5982391
1.09099 + 1.325711
1.272850 — 0.0728251

)
|

—3.02655 + 2.366051

—0.59037 — 2.672741

= —0.427156 + 0.7968671
= —0.517814 + 0.4247171
—0.770704 — 0.8869771

3.29052 — 1.362661

—0.18856 4 2.275161

—0.427156 — 0.7968671
—0.517814 — 0.4247171
—0.770704 + 0.8869771

3.29052 + 1.362661

—0.18856 — 2.275161

0.707761 + 0.5603911
= —0.427154 — 0.6684171
0.837997 + 0.4494771

—1.83472 + 0.211011

—3.18710 — 0.572441

0.707761 — 0.5603911
—0.427154 4 0.6684171
0.837997 — 0.4494771

—1.83472 — 0.211011

—3.18710 4 0.572441

0.951460 + 0.5953951
0.13569 + 1.789321
0.666759 — 0.6377201

—1.06863 + 4.458061

—0.43689 — 6.145291

0.951460 — 0.5953951
0.13569 — 1.789321
0.666759 + 0.6377201

>~ Q@ €|l & €| & €|l & €| & €| & &>
Il

—1.06863 — 4.458061

—0.43689 + 6.145291




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.853051 + 0.1602211
—0.985793 4 0.858266.1
0.040042 — 0.4214461

1.46918 — 0.346301

5.96536 + 0.535541

—0.853051 — 0.1602211
= —0.985793 — 0.8582661
= 0.040042 + 0.4214461

1.46918 + 0.346301

5.96536 — 0.535541

= 1.169830 + 0.0518461
0.79206 — 1.885631
= —0.960607 4 0.9618151

8.83595 + 3.514161

4.91512 — 2.669161

= 1.169830 — 0.0518461
= 0.79206 + 1.885631
—0.960607 — 0.9618151

8.83595 — 3.514161

4.91512 4 2.669161

0.882737 + 0.7809731
—0.878224 — 0.4296561
—0.622642 4 0.0525321

—3.85955 + 2.937521

2.97600 — 3.438811

0.882737 — 0.7809731
= —0.878224 + 0.4296561
= —0.622642 — 0.0525321

—3.85955 — 2.937521

2.97600 + 3.438811

= —1.083580 + 0.6168291
= 1.133680 — 0.3212281
= —0.721179 + 1.0214701

5.21503 — 3.896861

2.41425 4 2.651071

= —1.083580 — 0.6168291
= 1.133680 + 0.3212281
= —0.721179 — 1.0214701

5.21503 + 3.896861

2.41425 — 2.651071

= —1.075840 + 0.6895371
= —0.86208 + 1.975931
= —1.117050 — 0.8369491

3.96319 — 10.687201

0.56681 + 6.961411

= —1.075840 — 0.6895371
= —0.86208 — 1.975931
= —1.117050 + 0.8369491

3.96319 4 10.687201

0.56681 — 6.961411




Solutions to I} V—1(vol + v/—1CS) Cusp shape
u= 0.289436
a = —1.92057 —1.20998 —9.37190
b= 0.843987




ILI*=(b+1,a+u, ud —u?+1
2

(i) Arc colorings
o
o
=
o

oo ()
o= (
o
o=
(

ag =
1
alO = _u2
(ii) Obstruction class =1

(iii) Cusp Shapes = 2u? — Tu — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

1 W4l +2u+1
C2 ud +u -1

c3,C10 wW—ul4+2u—1
Cyq (u—1)3

cs, C7 (u+ 1)3

Cg, Cy u?
s ud —u? 41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3 2
c1, €3, €10 v 3yt +2y—1
C2,C8 Y-yt +2y—1
3
C4,Cs5,CT (y_l)
C6,C9 y3
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1 (vol + v/=1CS)

Cusp shape

u = 0.877439 4 0.7448621
a = —0.877439 — 0.7448621
b = —1.00000

—4.66906 + 2.828121

—7.71191 — 2.599751

u = 0.877439 — 0.7448621
a = —0.877439 4 0.7448621

—4.66906 — 2.828121

—7.71191 + 2.599751

b = —1.00000

u = —0.754878

a= 0.754878 —0.531480 4.42380
b = —1.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u® +u? + 2u + 1) (u?' = 8u® + -+ 17Tu — 1)
2 (u +u? — D =20 + -+ u+1)
s (u® —u? 4+ 2u — 1) (u®* —8u?* + - + 17u — 1)
4 (u—1)2)(u?* —4u® + - —2u+1)
€ (u+ D)W +6u* 4+ —2u+1)
e, Co uwd(u? — w0 4 - du+ 8)
cr (w4 1)) —4u® + - —2u+1)
Cs (u® —u? + D =20 + -+ u+1)
€10 (u® —u? 4 2u — 1) (u®* +2u® + -+ 3u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,c3 (> 4+ 3% +2y — Dy + 1292 + .-+ 137y — 1)
c2,Cs W - +2y - -8y 4+ 1Ty — 1)
ca, e (y =) =6y +--- =2y — 1)

% ((y = °) (" + 224> + - + 66y — 1)
C6, Co yP(y* 421970 + - — 176y — 64)
¢10 (4> +3y° + 2y — 1)(y* — 249> + - + 1Ty — 1)
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